(=~ & il

yelr weldmg, ety quality

- :
& 9 10 1
g |
8 |
2 . |
7 &4 [
* @V ® |
O o | AL A4 LA \ Wy T _p— : >
5 /?hgx———\&n\@\w };\ \\Q\H—t\%}& = "
. o e ‘ “ W\t AL R A
b % / /
()
4 15
W /9 7
J/@:? /((\ 16 17
A
& F
3 / // £ N\,
' W &&9
A >
%Y /
1 /S
P4 18
& 20 19 |
\: e ) / /
P Y s y
. = =t /)
3 =¥
ggﬂ = = >
> A N C,.‘
& N 7
W \ ,
ITEM PART DESCRIPTION PRICE R
e ITEM v DESCRIPTION PRICE
1 MB3605 CYLINDRICAL NOZZLE 19MM 145.0045 PR r— SRINE GATLE SURROT CINaRE
2 MB3604 CONICAL NOZZLE 16MM 145.0078
15 | MBMCS MACHINE SIDE/BACK HANDLE 501.2248
3 TAPERED NOZZLE 12MM 145.0126
16 | MBADN ADAPTOR NUT 501.0213
MBCTO08 CONTACT TIP 0.8MM. M6x28 140.0051
° 4 MBCT10 CONTACT TIP 1.0MM. M6x28 140.0242
‘ 18 NUT M10x1 501.0082
MBCT12 CONTACT TIP 1.2MM. M6x28 140.0379 X
h MBCT14 CONTACT TIP 1.4MM. M6x28 140.0382 19 | mcLz2 CONDUIT LINER 0.8-1.0MM. 3.5m
MBACTO8 CONTACT TIP 0.8MM. M8x30 140.0114 MCLBZ4 CONDUIT LINER 1.2-1.6MM. 3.5m
\ B MBACT09 CONTACT TIP 0.9MM. M8x30
MBACT12 CONTACT TIP 1.2MM. M8x30 140.0442 MCLBZ5 CONDUIT LINER 1.2-1.6MM. 4.5m
Q Ercy’s CONACIRAUCMMMESY MCLBZT | TEFLON LINER 1.2-1.6MM. 15FT.
6 MB3602 TIP ADAPTOR M6 SP360
7 VIB3602A e ORI e eaes N/S | MB363B MIG WELDING TORCH 3M.
MB364B MIG WELDING TORCH 4M.
8 MB3603 GAS DIFFUSER 014.0261
MB363P MIG WELDING TORCH 3M. - Pana End
9 MB3601 SWAN NECK 014.0006
MB364P MIG WELDING TORCH 4M. - Pana End
10 PLASTIC NUT 400.0044C
11 MBHDS HANDLE 180.0076 OTHER
12 SWM-03 SWITCH 185.0031 MBRLO1 ROLLER 0.8-1.0MM.
N 13 SWITCH CONNECTOR COLLET MBRLO8 ROLLER 0.8-0.8MM.
14 MBSPC SPRING CABLE SUPPORT 500.0225 MBRLO9 ROLLER 0.9-0.9MM.
15 CABLE ASSEMBLY,3M MBRL12 ROLLER 1.2-1.2MM.
e MBSCB STANDARD CONNECTION BLOCK
SPOOL HOLDER
CABLE ASSEMBLY,5M RIESCE

Copyright 2003 ; Craft Skill Co.,Ltd. Tel.+66 2 894 1750 (AUTO) Fax.+66 2 894 1788 WWW.Craft-Skill.com



